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on ___ This best title for the passage is__ Which of the following
would be the best title?What is the main idea of the passage? [1 [1 [
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(1 100 20050 40 O O We use both words and gestures to express
our feelings, but the problem is that these words and gestures can be
understood in different ways.It is true that a smile means the same
thing in any language. So does laughter or crying. There are also a
number of striking similarities in the way different animals show the
same feelings. Dogs, tigers and humans, for example, often show
their teeth when they are angry. This is probably because they are
born with those behavior patterns.Fear is another emotion that is
shown in much the same way all over the world. (80) In Chinese and
in English literature, a phrase like "he went pale and begin to tremble"
suggests that the man is either very afraid or he has just got a very big
shock. However, "he opened his eyes wide" is used to suggest anger
In Chinese whereas in English it means surprise. In Chinese
"surprise” can be described in a phrase like they stretched out their
tongues! Sticking out your tongue in English is an insulting gesture or
expresses strong dislike.Even in the same culture, people differ in
ability to understand and express feelings. Experiments in America
have shown that women are usually better than men at recognizing
fear, anger, love and happiness on peoples faces. Other studies show
that older people usually find it easier to recognize or understand



body language than younger people do.11. According to the passage,
A. we can hardly understand what peoples gestures
meanB. we can not often be sure what people mean when they
describe their feelings in words or gesturesC. words can be better
understood by older peopleD. gestures can be understood by most
of the people while words can not12. Peoples facial expressions may
be misunderstood because A. people of different ages
may have different understandingB. people have different culturesC.
people of different sex may understand a gesture in a different wayD.
people of different countries speak different languages13. In the same
culture, A. people have different ability to understand
and express feelingsB. people have the same understanding of
somethingC. people never fail to understand each otherD. people are
equally intelligent14. From this passage, we can conclude

A. words are used as frequently as gesturesB. words are
often found difficult to understandC. words and gestures are both
used in expressing feelingsD. gestures are more efficiently used than
words15. The best title for this passage may be A.
Words and FeelingsB. Words, Gestures and FeelingsC. Gestures and
FeelingsD. Culture and Understanding] [J [ 1500 “ The best title
for this passage may be ST Uoddoodooood
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O O000O* We use both words and gestures to express our feelings,
" O 0O 020 Byadopting a few simple techniques, parents who
read to their children can greatly increase their childrens language




development. It is surprising but true. How parents talk to their
children makes a big difference in the childrens language
development. If a parent encourages the child to actively respond to
what the parent is reading, the childs language skills increase. A study
was done with 30 three-year-old children and their parents. Half of
the children participated in the experimental study. the other half
acted as the control group. In the experimental group, the parents
were given a two-hour training session in which they were taught to
ask open-ended questions rather than yes-or-no questions. For
example, the parent should ask, "What is the doggie doing?" rather
than "Is the doggie running away?" The parents in the experimental
group were also instructed in how to help children find answers, how
to suggest alternative possibilities and how to praise correct answers.
At the beginning of the study, the children did not differ in measures
of language development, but at the end of one month, the children
In the experimental group showed 5.5 months ahead of the control
group on a test of verbal expression and vocabulary. Nine months
later, the children in the experimental group still showed an advance
of 6 months over the children in the control group. 6. Which of the
following can be inferred from the passage? A. Children who talk a
lot are more intelligent. B. Parents who listen to their children can
teach them more. C. Active children should read more and be given
more attention. D. Verbal ability can easily be developed with proper
methods. 7. What does "it" in line 2 can most probably be replaced
by? A. Parents increasing childrens language development B.
Reading techniques being simple C. Parents reading to children D.



Childrens intelligence development 8. According to the author,
which of the following questions is the best type to ask children
about? A. Do you see the elephant? B. Is the elephant in the cage? C.
What animals do you like? D. Shall we go to the zoo? 9. The
difference between the control group and the experimental group
was . A. the training that parents received B. the age of
the children C. tile books that were read D. the number of the
children 10. The best conclusion we can draw from the passage is
that . A. parents should be trained to read to their
children B. the more children read, the more intelligent they will
become C. childrens language skills increase when they are required
to respond actively D. children who read actively seem six months
older J 0 J 1000 “ The best conclusion we can draw from the
passage is that T Uoddooooooodood
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In the United States, 30 percent of the adult population has a "weight
problem". To many people, the cause Is obvious: they eat too much.
But scientific evidence does little to support this idea. Going back to
the America of the 1910s, we find that people were thinner than
today, yet they ate more food. In those days people worked harder
physically, walked more, used machines much less and didnt watch
television. Several modem studies, moreover, have shown that fatter
people do not eat more on the average than thinner people. In fact,
some investigations, such as the 1979 study of 3, 545 London office
workers, report that, on balance, fat people eat less than slimmer
people. Studies show that slim people are more active than fat



people. A study by a research group at Stanford University School of
Medicine found the following interesting facts: The more the men
ran, the more body fat they lost. The more they ran, the greater
amount of food they ate. Thus, those who ran the most ate the most,
yet lost the greatest amount of body fat. 11. The physical problem
that many adult Americans have is that . A. they are too
slim B. they work too hard C. they are too fat D. they lose too much
body fat 12. According to the article, given 500 adult Americans,
people will have a "weight problem". A. 30 B. 50 C. 100
D. 150 13. Is there any scientific evidence to support that eating too
much is the cause of a "weight problem"? A. Yes, there is plenty of
evidence. B. Of course, there is some evidence to show this is true. C.
There is hardly any scientific evidence to support this. D. We dont
know because the information is not given. 14. In comparison with
the adult American population today, the Americans of the 1910s

. A. ate more food and had more physical activities B.
ate less food but had more activities C. ate less food and had less
physical exercise D. had more weight problems 15. Modem scientific
researches have reported to us that . A fat people eat less
food and are less active B. fat people eat more food than slim people
and are more active C. fat people eat more food than slim people but
are less active D. thin people run less, but have greater increase in
foodintake 0 0 0 11-150 00000000000 0OO0OO
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